
Z…Zxq †kªwY 
 

evsjv 
 

 

cÖ‡kœi aviv I gvbe›Ub 
 

cÖ`Ë Aby‡”Q`/ KweZvsk c‡o 1 I 2 µwgK cÖ‡kœi DËi wjLb (cvV¨ eB wfwËK) 

1| kãv_© wjLb (5wU kã _vK‡e)    t          15=05 

2| cÖ‡kœi DËi wjLb (3wU cÖkœ _vK‡e)   t   2+4+4=10 

cÖ`Ë Aby‡”Q`/ KweZvsk c‡o 3 I 4 µwgK cÖ‡kœi DËi wjLb (‡hvM¨Zv wfwËK) 

3| ïb¨¯’vb c~iY (†hvM¨Zv wfwËK 5wU ïb¨¯’vb _vK‡e) t          15=05 

4| cÖ‡kœi DËi wjLb (3wU cÖkœ _vK‡e)   t   5+5+5=15 

5| wµqv c‡`i cwieZ©b     t          15=05 

6| cÖkœ •Zwi KiY: (†hvM¨Zv wfwËK)   t      15=05 

7| hy³eY© wefvRb K‡i kã MVb I ev‡K¨ cÖ‡qvM  t          15=05 

8| weivg wPý ewm‡q Aby‡”Q` c~b:wjLb   t                 05 

9| GK K_vq cÖKvk KiY    t          15=05 

10| wecixZ kã wjLb/mgv_©K kã wjLb (†hvM¨Zv wfwËK) t          15=05 

11| cÖ`Ë KweZvsk c‡o cÖ‡kœi DËi wjLb (‡hvM¨Zv wfwËK) t  2+3+5=10 

12| dig c~iY KiY (†hvM¨Zv wfwËK)   t      05 

13| Av‡e`b cÎ / wPwV wjLb (†hvM¨Zv wfwËK)  t           05 

14| 200 k‡ãi g‡a¨ iPbv wjLb (4wU †`Iqv _vK‡e) t      10 

           ‡gvU= 100 

cÖ_g cÖvwšÍK cix¶vt 

 1| Avgvi eB (3q fvM) t  

  K. M`¨   t  cvV bs 1, 3, 5 I 7| 

L. c`¨   t  cvV bs 2, 4 I 6|  

 2| e¨vKiY  t  Aa¨vq bs 1, 3, 4, 9, 10 I 18| 

 3| wecixZ kã  t Aa¨vq bs 19 (‡U·U ey‡Ki wm‡jevm  

Abyhvqx)| 

 4| mgv_©K kã/cÖwZ kã t Aa¨vq bs 20 (‡U·U ey‡Ki Av‡jv‡K)| 

5| cÖkœ •Zwi KiY t c„ôv bs 103 I 104| 

6| hy³eY© wefvRb t Aa¨vq bs 5| 

3q-3 

7| wj½ cwieZ©b  t Aa¨vq bs 13| 

8| GK K_vq cÖKvk t Aa¨vq bs 23 (evg Ask)| 

9| wµqv c‡`i cwieZ©b t Aa¨vq bs 2| 

10| weivg wPý  t Aa¨vq bs 27| 

11| cÎ wjLb  t cÎ bs 1-4 I 11-15|   

12| Av‡e`b cÎ  t `iLv¯Í bs 6 I 7| 

 13| dig c~iY  t cvV 27 Gi 1 †_‡K 3| 

14| iPbv  t         RvZxq cvwL †`v‡qj, ‡bŠKv ågb, 

Aa¨emvq, nhiZ gynv¤§` (m)| 

wØZxq cÖvwšÍK cix¶vt 
 

 1| Avgvi eB (3q fvM) t   

  K. M`¨ t cvV bs 8, 10, 12 I 14| 

L. c`¨ t cvV bs 9, 11 I 13| 



 2| e¨vKiY  t  Aa¨vq bs 6, 7, 10, 12, 14 I 18| 

 3| wecixZ kã  t Aa¨vq bs 19 (‡U·U ey‡Ki wm‡jevm  

Abyhvqx)| 

 4| mgv_©K kã/cÖwZ kã t Aa¨vq bs 20 (‡U·U ey‡Ki Av‡jv‡K)| 

5| cÖkœ •Zwi KiY t c„ôv bs 105 I 106| 

6| hy³eY© wefvRb t Aa¨vq bs 5| 

 7| wj½ cwieZ©b  t Aa¨vq bs 13| 

8| GK K_vq cÖKvk t Aa¨vq bs 23 (Wvb Ask)| 

9| wµqv c‡`i cwieZ©b t Aa¨vq bs 2| 

10| weivg wPý  t Aa¨vq bs 27| 

11| cÎ wjLb  t cÎ bs 5-8 I 16-20| 

12| Av‡e`b cÎ  t `iLv¯Í bs 8 I 9| 

 13| dig c~iY  t cvV 27 Gi 4 †_‡K 7| 

14| iPbv  t         RvZxq dzj, QvÎ Rxe‡bi `vwqZ¡ I KZ©e¨, 

    Mg‡qi g~j¨, gvZv-wcZvi cÖwZ KZ©e¨| 
 

evwl©K cix¶vt 
 

 1| Avgvi eB (3q fvM) t   

  K. M`¨ t cvV bs 16, 18, 19, 21 I 22| 

L. c`¨ t cvV bs 15, 17 I 20| 

 2| e¨vKiY  t  Aa¨vq bs 1, 3, 14, 15, 18 I 26 | 3| wecixZ kã 

 t Aa¨vq bs 19 (‡U·U eyK Abymv‡i)| 

4| mgv_©K kã/cÖwZ kã t (‡U·U ey‡Ki Av‡jv‡K)| 

5| cÖkœ •Zwi KiY t c„ôv bs 103 †_‡K 107| 

6| hy³eY© wefvRb t Aa¨vq bs 5| 

 7| wj½ cwieZ©b  t Aa¨vq bs 13| 

8| GK K_vq cÖKvk t Aa¨vq bs 27 (m¤ú~Y©)| 

9| wµqv c‡`i cwieZ©b t Aa¨vq bs 2| 

10| weivg wPý  t Aa¨vq bs 27| 

11| cÎ wjLb  t cÎ bs 7-11 I 21-25| 

12| Av‡e`b cÎ  t `iLv¯Í bs 6, 7 I 8| 

 13| dig c~iY  t cvV 27 Gi 8 †_‡K 10| 

14| iPbv  t         Avgvi gv, PwiÎ MVb, M„ncvwjZ cï 

    Kwe KvRx bRiæj Bmjvg| 

 

English-100 
 

 
 

Type of questions and distribution of marks: 
 

Read the text and answer the questions 1, 2, 3 & 4. (It will be taken from  

English for Today class V book) 

1. Match given words with their meanings/Fill in the blanks.    15=05 

2. Write True’ or ‘False’ for correct/incorrect statement:      16=06 

3. Answer short questions. (6 short constructed response questions will be  

    given and students will have to answer all of them):      26=12 
4. Short composition (Free writing or answering a set of questions related to text. Students will write 
at least five sentences related to the topic. Capital letters, punctuations, spelling and sentence structure 

will be marked)   10 

Read the text and answer the questions 5, 6, 7, 8 & 9. (It will not be taken  

from English for Today class V book but it must be similar difficulty level for grade V 

students) 



5. Fill in the blanks with the given words (C.B)      :       15=05 

6. Write True’ or ‘False’ for correct/incorrect statement:       16=06 

7. Answer short questions (5 short constructed response questions will be  

    given and students will have to answer all of them) (C.B)       25=10 

8. Write a simple personal letters (cues will be given and students  

      will have to write at least six accordingly) (Competency based).   10 

9. Making five WH questions from the given statements (By using  

    Who, What, When, Where, Why, Which and How) Student will  

    make questions with the underlined word. (Competency based).   25=10 

10. Short questions (students will answer all questions by understanding  

      short informative text/ instructions/ activities/ suggestions/ directions/  

      procedures to do any work) (Competency based).                 1+2+3=6 
 

11. Short questions/ Fill in the blanks (By using information related to  

      days, months, time, cardinal and ordinal numbers in tables/ columns  

      or words for figures, students will answer short questions/ fill in the  

      gaps.) (Competency based).          05 

12. Rearrange words in the correct order to make meaningful sentences.          

      (Competency based).                   25=10 

13. Form Completion (Student will complete a form by using given  

   information) (Competency based).          05 

            Total=100 

1
st
 Semester Exam: 

 1. Text Book (B-3) : Unit No 1 to 14. 

2. Grammar         : Lesson No 1 to 5, 12, 17, 23, 24, 25, 26.  

      Questions pattern:  

 1. Questions 1 to 3 : Seen comprehension (Follow Text book) 

2. Questions No 4 : Follow model questions 1 to 5. 

3. Questions 5 to 7 : Unseen (Follow model questions 1 to 5). 

4. Questions No 8 : Follow model questions 1 to 5. 

5. Questions No 9 : Page No 113, 114 & Textual based. 

 6. Questions No 10  : Follow model questions 1 to 5. 

 7. Questions No 11 : Follow model questions 1 to 5. 

 8. Questions No 12 : Follow model questions 1 to 5. 

 9. Questions No 13 : Follow model questions 1 to 5.  

2
nd

 Semester Exam:  
 1. Text Book (B-3) : Unit No 15 to 28. 

2. Grammar   : Lesson No 6 to 12, 18, 23, 24, 25, 26. 

      Questions pattern:  

 1. Questions 1 to 3 : Seen comprehension (Follow Text book) 

2. Questions No 4 : Follow model questions 6 to10. 

3. Questions 5 to 7 : Unseen (Follow model questions 6 to10). 

4. Questions No 8 : Follow model questions 6 to10. 

5. Questions No 9 : Page No 115, 116 & Textual based. 

 6. Questions No 10  : Follow model questions 6 to10. 

 7. Questions No 11 : Follow model questions 6 to10. 

 8. Questions No 12 : Follow model questions 6 to10. 

 9. Questions No 13 : Follow model questions 6 to10.  

 

Annual Exam: 
 1. Text Book (B-3) : Unit No 29 to 39. 

2. Grammar   : Lesson No 3-7, 12-16, 19, 23, 24, 25, 26.  

     Questions pattern:  

 1. Questions 1 to 3 : Seen comprehension (Follow Text book) 



2. Questions No 4 : Follow model questions 11 to 15. 

3. Questions 5 to 7 : Unseen (Follow model questions 11 to 15) 

4. Questions No 8 : Follow model questions 11 to 15. 

5. Questions No 9 : Page No 113 to 117 & Textual based. 

 6. Questions No 10  : Follow model questions 11 to 15. 

 7. Questions No 11 : Follow model questions 11 to 15. 

 8. Questions No 12 : Follow model questions 11 to 15. 

 9. Questions No 13 : Follow model questions 11 to 15.  

 

MwYZ 

 

cÖ‡kœi aviv I gvbe›Ub 
 

1| msw¶ß cÖkœ (20wU cÖkœ _vK‡e 20wUi DËi w`‡Z n‡e) t    1×20=20 

2| msL¨v m¤úwK©Z mgm¨vejx (†hvM¨Zv wfwËK)  

    (2wUi g‡a¨ 1wUi DËi w`‡Z n‡e)   t  08 

3| ‡hvM-m¤úwK©Z mgm¨v (†hvM¨Zv wfwËK)  

    (2wUi g‡a¨ 1wUi DËi w`‡Z n‡e)   t  08 

4| we‡qvM-m¤úwK©Z mgm¨v (†hvM¨Zv wfwËK)  

    (2wUi g‡a¨ 1wUi DËi w`‡Z n‡e)   t            08 

5| ¸Y-m¤úwK©Z mgm¨v (†hvM¨Zv wfwËK)     

    (2wUi g‡a¨ 1wUi DËi w`‡Z n‡e)   t  08 

6| fvM-m¤úwK©Z mgm¨v (†hvM¨Zv wfwËK)    

   (2wUi g‡a¨ 1wUi DËi w`‡Z n‡e)    t  08 

7| gy`ªv-m¤úwK©Z mgm¨v (†hvM¨Zv wfwËK)    

   (2wUi g‡a¨ 1wUi DËi w`‡Z n‡e)    t  08 

8| fMœvsk-m¤úwK©Z mgm¨v (†hvM¨Zv wfwËK) 

   (2wUi g‡a¨ 1wUi DËi w`‡Z n‡e)    t  08 

9| cwigvc-m¤úwK©Z mgm¨v (†hvM¨Zv wfwËK)  

    (2wUi g‡a¨ 1wUi DËi w`‡Z n‡e)   t   08 

10| mgq-m¤úwK©Z mgm¨v/DcvË web¨¯ÍKiY 

    (2wUi g‡a¨ 1wUi DËi w`‡Z n‡e)    t   08 

11| R¨vwgwZt K) wb‡`©kbv Abymv‡i wPÎ AsKb  t            04 

      L) wPÎmn •ewkó¨ wjLb (3wUi g‡a¨ 2wU) t            06 
 

           ‡gvU=100 

 

[we: `ª: 2 †_‡K 7 Ges 9, 10 I 11 bs cÖ‡kœi DËi cÖ`v‡bi †¶‡Î DËic‡Î mgvavb K‡i †`Lv‡Z n‡e| ‡Kv‡bv 

wk¶v_x© DwjøwLZ cÖkœ¸‡jvi g‡a¨ †Kvb cÖ‡kœi mgvavb bv †`wL‡q ïay DËi wjL‡j H c‡kœi DË‡i †Kv‡bv b¤^i 

cv‡e bv|] 
 

 

cÖ_g cÖvwšÍK cix¶vt 

 1| cÖv_wgK MwYZ (3q fvM) t  K¬v‡m hv Kiv‡bv n‡e| 

 2| R¨vwgwZ       t  Aa¨vq bs 1, 2 I 3| 

wØZxq  cÖvwšÍK cix¶vt 

 1| cÖv_wgK MwYZ (3q fvM) t  K¬v‡m hv Kiv‡bv n‡e| 

 2| R¨vwgwZ       t  Aa¨vq bs 3, 4 I 5| 

evwl©K cix¶vt 

 1| cÖv_wgK MwYZ (3q fvM) t  m¤ú~Y© eB|  

 2| R¨vwgwZ       t  Aa¨vq bs  3, 5, 6, 7| 

 



mgvR 

 

 

cÖ‡kœi aviv I gvbe›Ub 
 

 

1| msw¶ß DËi cÖkœ (15wU cÖkœ _vK‡e, 15wUi DËi w`‡Z n‡e) t  2×15=30 

2| mwVK kã w`‡q ïb¨¯’vb c~iY (14wU _vK‡e, 12wU DËi w`‡Z n‡e)   1×12=12 

3| wgjKiY (evg cv‡k 5wU _vK‡e, Wvb cv‡k 7wU _vK‡e)     2×5=10 

4| KvVv‡gve× cÖkœ (10wU cÖkœ _vK‡e Zb¥‡a¨ cÖ_g 8wUi DËi w`‡Z n‡e) 6×8=48 

             ‡gvU=100 

1g mvgwqK cix¶v  t Aa¨vq bs  1 †_‡K 4|  

2q cÖvwšÍK cix¶v  t  Aa¨vq bs  5 †_‡K 8| 

evwl©K cix¶v   t  Aa¨vq bs 9 †_‡K 12 | 
 

 

 

cÖv_wgK weÁvb 
 

 

cÖ‡kœi aviv I gvbe›Ub 
 

1| msw¶ß DËi cÖkœ (15wU cÖkœ _vK‡e, 15wUi DËi w`‡Z n‡e) t  2×15=30 

2| mwVK kã w`‡q ïb¨¯’vb c~iY (14wU _vK‡e, 12wU DËi w`‡Z n‡e)   1×12=12 

3| wgjKiY (evg cv‡k 5wU _vK‡e, Wvb cv‡k 7wU ZvK‡e)     2×5=10 

4| KvVv‡gve× cÖkœ (10wU cÖkœ _vK‡e Zb¥‡a¨ cÖ_g 8wUi DËi w`‡Z n‡e) 6×8=48 
            

                      100 

1g mvgwqK cix¶v  t Aa¨vq bs  1 †_‡K 4|  

2q cÖvwšÍK cix¶v  t  Aa¨vq bs  5 †_‡K 8| 

evwl©K cix¶v   t  Aa¨vq bs 9 †_‡K 12 | 
 

 

ag© I •bwZK wkÿv 
 

 

1| msw¶ß DËi cÖkœ (15wU cÖkœ _vK‡e, 15wUi DËi w`‡Z n‡e) t  2×15=30 

2| mwVK kã w`‡q ïb¨¯’vb c~iY (14wU _vK‡e, 12wU DËi w`‡Z n‡e)   1×12=12 

3| wgjKiY (evg cv‡k 5wU _vK‡e, Wvb cv‡k 7wU _vK‡e)     2×5=10 

4| KvVv‡gve× cÖkœ (10wU cÖkœ _vK‡e Zb¥‡a¨ cÖ_g 8wUi DËi w`‡Z n‡e) 6×8=48 

             ‡gvU=100 

 

Bmjvg ag© 

 

1g cÖvwšÍK cix¶v  t Aa¨vq bs  1g, 2q I 4_©| 

2q cÖvwšÍK cix¶v  t  Aa¨vq bs 3q, 4_© I 5g| 

evwl©K cix¶v   t   m¤ú~Y© eB|  

   
 

wn› ỳ ag© 

 
 

1g cÖvwšÍK cix¶v  t Aa¨vq bs  1g, 2q I Zq| 

2q cÖvwšÍK cix¶v  t  Aa¨vq bs 4_,© 5g I 6ô| 

evwl©K cix¶v   t   Aa¨vq bs 7g, 8g I 9g| 

 

 

 



mvaviY Ávb-50 

 

1g mvgwqK cix¶v  t c„ôv bs 04 †_‡K 20| 

2q cÖvwšÍK cix¶v  t  c„ôv bs 21 †_‡K 38| 

evwl©K cix¶v   t  c„ôv bs 28 †_‡K 48| 

 

AsKb-50 

 

1g mvgwqK cix¶v  t c„ôv bs 2 †_‡K 5| 
 

2q cÖvwšÍK cix¶v   t  c„ôv bs 6 †_‡K 9| 

evwl©K cix¶v   t  c„ôv bs 12 †_‡K 15| 
 

 


